2024 JV)F R HYT

JE 7 [BEERES OUT | IN [GROSS|HDCP| NET | AE JIE {2 HEE OUT | IN [GROSS|HDCP| NET | AE JIE 1z BEESR OUT | IN |[GrOss|HDCP| NET | AE
B 5 ot 1EfT 37 39 76 8.4 67.6] O 1264 | &HE fi— 48 44 92| 19.2| 728 25117 | =@ JAX 39 39 78 3.6] 74.4
EEBB HF BX 44 40 84| 15.6 68.4] O 12767 /NI EZ 48 50 98| 25.2| 728 252y | EH 44 40 84| 9.6| 744
3| HH Bx 49 47 96| 27.6 68.4] O 1280 |BH EX 41 45 86| 13.2| 728 253y JEH B= 41 43 84| 9.6| 744
VEEE:ES 44 37 81| 12.0 69.0, O 1291 |7 {ERR 41 45 86| 13.2| 728 2544 | RFF H 51 45 96| 21.6| 744
5| RN RiE 37 37 74 4.8 69.2] O 1300z | KB EE 37 36 73 0.0/ 730/ O 255y |&lE i 42 42 84| 9.6| 744
60z|fELL Al 42 38 80| 10.8 69.2] O 13147 /Mg B K 49 42 91| 18.0] 73.0 2561 ¥R BREE 41 37 78 3.6] 74.4
LT = 40 40 80| 10.8 69.2] O 1321 |RTH  KEB 43 42 85| 12.0/ 73.0 25711 B2 HEH 44 46 90| 15.6| 744
CPANENPN S 44 40 84| 14.4 69.6] O 1337 | ER —% 42 49 91| 18.0] 73.0 2581y |BFH BE 48 42 90| 15.6| 744
of | A Eth 41 36 77 7.2 69.8] O 13447 B2 BB 45 46 91| 18.0] 73.0 25917 [WE ERA 41 43 84| 9.6| 744
AL ESS 47 42 89| 19.2 69.8] O 1350 |#k 1B 43 42 85| 12.0/ 73.0 2601z |fELll =Rl 41 43 84| 96| 744 O
110 |50 £&F 51 44 95| 25.2 69.8 13607 | &R FEA 51 52 103| 30.0] 73.0 261107 | A BEFH 41 43 84| 9.6| 744
12 [/Mg EEXX 44 45 89| 19.2 69.8 1370 | RKA 45 34 79 6.0 73.0 2621 |FELL =81 41 43 84| 9.6| 744
13 | KE RS2 40 36 76 6.0 70.0 13807 |ZR  FHHA 43 42 85| 12.0/ 73.0 263y |[MHE KE 41 43 84| 9.6| 744
T AT SI=E 40 42 82| 12.0 70.0 139 | B 38 47 85| 12.0/ 73.0 26447 | K B 46 50 96| 21.6] 744
1567l fd— 36 39 75| 48 70.2] O 1400 WHE RA 38 41 79 6.0/ 730, O 2650 & ER 49 47 96| 21.6] 744
1647 |[FIH 1#& 52 47 99| 28.8 70.2 141107 | P8 EX 42 43 85| 12.0/ 73.0 26617 M 5LiC 52 44 96| 21.6] 744
170 | EH  FiE 39 41 80 9.6 70.4 14290 | EK BE 42 43 85| 12.0/ 73.0 26711 | HH B=F 42 41 83 8.4] 74.6
186 | =% %BX 36 38 74 3.6 70.4 1430 | B & 44 47 91| 18.0] 73.0 26807 | ARF  H 52 43 95| 20.4| 746
191 [ FN  #E 37 36 73 2.4 70.6 144407 |JRH FEfiE 41 44 85| 12.0] 73.0 26917 | IE1T 43 40 83 8.4] 74.6
2007 | &H R 45 40 85| 14.4 70.6] O 1450 | KA &= 46 45 91| 18.0] 73.0 27007 | FHA LT 43 40 83| 8.4 746/ O
214 | hNfE A 50 47 97| 26.4 70.6 14607 | KH #— 48 43 91| 18.0] 73.0 2711 |[hiR 39 38 77 2.4 74.6
22060 |1 fE— 47 44 91| 20.4 70.6 14747 PSR T 43 48 91| 18.0] 73.0 27241 | F Il BE—HB 39 38 77 2.4 74.6
230 | B8 B2 44 46 90| 19.2 70.8 14807 I = 41 37 78 48] 73.2 2730 | &R FH 39 38 77 2.4 74.6
2401 | INF  fb= 38 40 78] 7.2 70.8 1490 | R6 EH 45 39 84| 10.8] 73.2 27401 |2 B 39 38 77| 2.4] 746
25| =f JAX 37 41 78 7.2 70.8] O 1501z BJI| = 40 38 78 48| 732] O 2750 [PaIEp  FETE 39 38 77 2.4 74.6
260 | =2k FH 40 38 78 7.2 70.8 151107 | Kib  FRIT 46 44 90| 16.8] 73.2 2760 |[HP =3 47 54 101] 26.4] 746
276 | KB BfE 44 46 90| 19.2 70.8 15207 |8 EX 42 42 84| 10.8| 73.2 YT 46 49 95| 20.4| 746
28f | AlF & 39 38 77 6.0 71.0 1530 |/NE IER 44 40 84| 10.8| 73.2 2781 | B 43 46 89| 14.4] 746
291 |5 = 40 37 77 6.0 71.0 1540 | B R 49 41 90| 16.8] 73.2 ACIVEE RS 49 40 89| 14.4] 746
300z | BN RE 43 40 83| 12.0 71.0, O 1550 | =% £ 39 45 84| 10.8| 73.2 280 [1— A& ZEIE 41 42 83 84| 746| O
3| KA EE 37 40 77 6.0 71.0 1560 | B4R O 42 48 90| 16.8] 73.2 2811y |5 & 47 48 95| 20.4| 746
320 | KA RIS 42 41 83| 12.0 71.0 1570 | KA SRiE 43 41 84| 10.8| 73.2 2821 )l T 43 40 83 8.4] 74.6
33 | WA 5LF 48 47 95| 24.0 71.0 1580 I = 39 39 78 48| 73.2 2834 |[L)I AR 49 46 95| 20.4| 746
344 | FE CHE 43 40 83| 12.0 71.0 1590 Al I 41 43 84| 10.8| 73.2 2844y | ERET 42 41 83 8.4] 74.6
3B =F BX 34 43 77| 6.0 71.0] O 1601z Il #C 43 47 90| 16.8] 732 O 285y |E)Il FZE 49 46 95| 20.4| 746
36 | PIE F 37 39 76| 4.8 71.2 161107 (&R &R 43 53 96| 22.8| 73.2 2860 | HE =F 38 45 83 8.4] 74.6
374 | HF JE= 48 40 88| 16.8 71.2 16207 |HeF JEZ 44 52 96| 22.8] 73.2 287 |BEAR HC 46 49 95| 20.4| 746
38 |FELL ZAl 38 44 82| 10.8 71.2 1631y | Bl #BE2 38 39 77 3.6| 734 288fu |JI|[H FEEfE 44 51 95| 20.4| 74.6
391 ik EHHR 42 40 82| 10.8 71.2 16440 |1E R BRSE 40 37 77 3.6| 734 2891y |18 EBth 53 41 94| 19.2] 74.8
4007 | AR & 41 34 75 3.6 71.4] O 16507 |FEAR  F5HH 44 39 83 9.6| 734 2901 |68 FB 40 42 82 72| 748 O
R EES 40 41 81 9.6 71.4 1660 X EH 48 41 89| 15.6]/ 734 2914 ()l FA 43 39 82 7.2] 748
4200 | R RXRED 39 42 81 9.6 71.4 16747 |FIIEF s 43 40 83 9.6] 73.4 2020y B8 % 39 37 76 1.2] 74.8
4307 |PER 54 36 39 75 3.6 71.4 1680 | R 188 42 41 83 9.6| 734 2931y |[AH  HiE 40 42 82 7.2] 748
4400 | HAR SRR 42 39 81 9.6 71.4 16917 |HE JEZ 45 44 89| 15.6] 734 2044 | 2R FH 42 40 82 7.2] 748
4547 |POER  f0F 35 40 75 3.6 71.4] O 17007 BRI EAR 42 41 83 9.6] 734 O 295y [l fBF 47 47 94| 19.2] 74.8
4607 |BFH & 42 45 87| 15.6 71.4 1710 R H=B 49 46 95| 21.6] 734 2961 |% 1ERH 48 46 94| 19.2] 748
470 | FRE BR 39 48 87| 15.6 71.4 1720 3EfR &R 40 43 83 9.6] 73.4 29767 [FPFH A 45 43 88| 13.2] 74.8
4801 | AR B 44 55 99| 27.6 71.4 1730 | KAE B 53 48 101] 27.6] 734 2081y [FTE  Hf 45 49 94| 19.2] 74.8
490 [ FR & 34 34 68| -3.6 71.6 INVIESS 40 43 83 9.6| 734 2991y |[BH IEfT 49 45 94| 19.2] 74.8
501 AR F5HH 43 37 80 8.4 71.6] O 17507 | KEH % 51 50 101] 27.6] 734 3000 | fRH BGE 41 41 82 72| 748 O
510 | & B2 43 37 80 8.4 71.6 17607 | HEX 38 38 76 2.4 736 3011y |HB & 46 42 88| 13.2] 74.8
520 | I fe— 37 43 80 8.4 71.6 17707 | B 39 37 76 2.4 736 30217 | ITh 54 46 100 25.2| 74.8
530 |tkiE EE 41 45 86| 14.4 71.6 178f | AA B4 40 36 76 2.4 736 3031 | SRAL 47 53 100 25.2| 74.8
540 | FE & 38 35 73 1.2 71.8 179 |9t IE4T 40 42 82 8.4| 73.6 3044 £ =X 47 47 94| 19.2] 74.8
5507 |+ ZER 36 37 73 1.2 71.8 1801 | K7 FIsE 37 39 76 24| 736/ O 3051 | H  HBi 43 45 88| 13.2] 74.8
560 | EX 39 40 79 7.2 71.8 18147 | IUA&  B3F 44 38 82 8.4 73.6 3061 [%H A= 45 43 88| 13.2] 74.8
570 | 5K 8 50 41 91| 19.2 71.8 1821y BN IEfE 45 43 88| 14.4| 73.6 3071 A EH 54 52 106] 31.2] 74.8
580y |ffEY = 41 38 79 7.2 71.8 1830y |[ME BHE 37 39 76 2.4 736 3081y |[fiE ZEH 52 48 100 25.2| 74.8
500 | BR #H2 45 40 85| 13.2 71.8 1840 |/NE IERZ 46 36 82| 84| 736 3090 | AP EE 48 52 100| 25.2] 748
IV ESIEEES 41 38 79 7.2 71.8] O 1851 | X5 82 45 43 88| 14.4| 73.6 310173k FR 52 48 100| 25.2| 748 O
6101 | FRE HfE 41 44 85| 13.2 71.8 18601 | 5% XA 46 42 88| 14.4] 736 31y AR 1§ 52 54 106] 31.2] 748
620 | HEH =¥ 40 39 79 7.2 71.8 1874 |HP =F 42 46 88| 14.4| 73.6 3121 IR B— 45 49 94| 19.2] 74.8
6311 |fEM  AAA 40 39 79] 7.2 71.8 1880 | K#  FsE 40 36 76| 24| 736 SENIEZTIE L] 49 38 87| 12.0] 75.0
64107 | AR FHA 42 43 85| 13.2 71.8 1890y |FiE — 42 40 82 8.4] 73.6 3144 [BB =5 39 36 75 0.0] 75.0
6507 |BEH X 47 44 91| 19.2 71.8 1901 |FTiR  #B3] 43 45 88| 14.4| 736] O 3154 [FaER M= 44 43 87| 12.0] 75.0
660 | B BEZ 47 37 84| 12.0 72.0 1014 |FrA BE 48 52 100| 26.4] 73.6 316fz[#k 1B 49 38 87| 12.0] 75.0
670 | R 188 42 42 84| 12.0 72.0 1021 | &5 B 41 40 81 7.2] 738 317 [IIAR EE 49 44 93| 18.0] 75.0
680y | iR Z 43 35 78 6.0 72.0 193 [HIE BEX 43 44 87| 13.2| 73.8 3186 | EH BF 43 44 87| 12.0] 75.0
691 |RT RB— 45 45 90| 18.0 72.0 1044 | FE H1E 44 37 81 7.2| 73.8 319f Al F— 39 42 81 6.0] 75.0
700 2% FF 39 45 84| 12.0 720, O 1957 |=F BN 40 41 81 7.2] 738 32002 | &Il FBR 45 42 87| 12.0] 75.0/ O
TR | KRR SRE 39 39 78 6.0 72.0 1960 |1¥ 5 #— 50 49 99| 25.2| 738 32101 |F  IE1T 40 41 81 6.0 75.0
7201 =@ Ak 38 40 78] 6.0 72.0 197 [8 —% 46 47 93| 19.2| 738 3221 |#BE  F3h 49 44 93| 18.0] 75.0
73| T+ FH 46 38 84| 12.0 72.0 108fu | O BE 45 42 87| 13.2] 738 32307 [ R RE 38 43 81 6.0 75.0
740 FFE B 39 39 78 6.0 72.0 1990 ;FH # 45 42 87| 13.2| 73.8 3244 |HIR B 45 42 87| 12.0] 75.0
7501 | B BE 34 38 72| 0.0 72.0 2001 F— 48 45 93| 19.2] 738/ O 325 |F8 B 47 46 93| 18.0] 75.0
760 |HEH —k 42 42 84| 12.0 72.0 201 | T+ E&F 49 50 99| 25.2| 738 32607 |HA  5hT 47 40 87| 12.0] 75.0
ETEET) 46 38 84| 12.0 72.0 20211 |84 Eth 50 43 93| 19.2| 738 32717 |%& 1EPH 56 49 105] 30.0] 75.0
780 | EE BF 44 40 84| 12.0 72.0 20311 | AR 5B 40 47 87| 13.2| 738 3281y | HH  IRER 49 44 93| 18.0] 75.0
70 B2 WEH 41 43 84| 12.0 72.0 204461 | AR M 38 43 81 7.2| 73.8 3201y |Fifm BE 43 50 93| 18.0] 75.0
801 | &H R 47 43 90| 18.0 720/ O 20507 | iR % 51 48 99| 25.2| 7338 330 |20 EiE 46 53 99| 24.0] 750/ O
81fz | EH fF#E 39 45 84| 12.0 72.0 2060 |EFH FF 47 39 86| 12.0] 74.0 3B [SH FH& 55 56 111 36.0] 75.0
820y | B #BEZ 40 37 77 4.8 72.2 20711 |Z=F BA 47 45 92| 18.0/ 74.0 3320 | FFH BE—H 57 60 117| 42.0] 75.0
83y | & 43 40 83| 10.8 72.2 2081 [PER  [ESE 44 48 92| 18.0] 74.0 33301 |45 M 42 44 86| 10.8] 75.2
840 | FH BE 39 38 77] 4.8 72.2 2090 | EE —T 44 42 86| 12.0/ 74.0 33| fER BE 41 39 80 48] 75.2
85y |k B 43 40 83| 10.8 72.2 2100z | BJIl 18 44 42 86| 12.0] 740/ O 3350 [FE EE 48 44 92| 16.8] 75.2
8607 ;54 B85k 39 44 83| 10.8 72.2 21111 | BF) 53 51 104| 30.0] 74.0 336 |EE A 45 41 86| 10.8] 75.2
87| e B 41 42 83| 10.8 72.2 212U | &R BA 46 40 86| 12.0] 74.0 33747 | Al &P 46 46 92| 16.8] 75.2
88fI |Fim =i 38 39 77] 4.8 72.2 213 B0 HE 41 39 80 6.0 74.0 33| RB R 50 42 92| 16.8] 75.2
89| KA & 41 42 83| 10.8 72.2 2144y [FhFH BB 46 40 86| 12.0/ 74.0 339fi |/NE IER 42 44 86| 10.8] 75.2
VAT 35 35 70, -2.4 724 O 21501 |EE EF 36 44 80 6.0 74.0 3400 = H = 46 46 92| 16.8] 75.2] O
91fu | & E F=E— 48 40 88| 15.6 72.4 2160y [IEH EA 41 45 86| 12.0/ 74.0 M| EE =3 43 43 86| 10.8] 75.2
2 | FII 18 48 40 88| 15.6 72.4 21710 |HE & 52 46 98| 24.0/ 74.0 34201 | /T ERER 48 44 92| 16.8] 75.2
o3y |F3F B 41 41 82 9.6 72.4 2180 | A BEF 41 39 80 6.0 74.0 343 |#5T BR 54 50 104| 28.8] 75.2
LG 48 40 88| 15.6 72.4 2190y | KB R 42 44 86| 12.0/ 74.0 34461 | KHx  FHE 50 48 98| 22.8] 75.2
o5y | FRE CHfE 44 38 82 9.6 72.4 2200z |k i 47 45 92| 18.0] 74.0] O 3450 [BH FF 46 46 92| 16.8] 75.2
96fi |3 BFE 44 38 82 9.6 72.4 2211 |piH 2 45 47 92| 18.0] 74.0 34647 ;5A Bsh 49 49 98| 22.8] 75.2
97fi| KA 1B 43 39 82 9.6 72.4 22201 | AH {5 43 43 86| 12.0/ 74.0 34762 | IUN IERS 44 48 92| 16.8] 75.2
98f1 Rk ¥l 40 42 82| 9.6 72.4 223V ;BH A 46 40 86| 12.0] 74.0 3480 A =HA 46 46 92| 16.8] 75.2
99 | ZR  FH 40 42 82 9.6 72.4 22401 |1xE W 45 41 86| 12.0/ 74.0 34967 /MR B X 44 48 92| 16.8] 75.2
1000|554 if 41 47 88| 15.6 724 O 22501 R HE— 45 41 86| 12.0/ 74.0 3500/ MR EEX 45 40 85 9.6] 754 O
1011 | W 43 45 88| 15.6 72.4 22607 | Al D% 49 49 98| 24.0] 74.0 3510 [ HF F 53 44 97| 21.6] 75.4
1021z ;57K BEE 47 47 94| 21.6 72.4 2270 | AR # 44 42 86| 12.0/ 74.0 3527 |[IA& B3 39 40 79 3.6/ 75.4
1031 |tkfE Z=FE 39 36 75 2.4 72.6 2280 [ BA Wi 48 50 98| 24.0] 74.0 35307 | KA K& 46 39 85 9.6] 75.4
10467 | K7 FIsE 37 38 75 2.4 72.6 2200y | B8 IE 46 39 85| 10.8| 74.2 354y JBH A 46 39 85 9.6/ 75.4
1050 0E  #E— 32 43 75 2.4 72.6 PRI VANTES=E 39 40 79 48| 742 O VIEERESS 47 44 91| 15.6| 75.4
1060 |HO &z 41 46 87| 14.4 72.6 231107 |HEFF =Hib 41 38 79 48| 74.2 356f7 |SH {EE 42 37 79 3.6/ 75.4
10767 |EXk 88 41 40 81 8.4 72.6 23247 [BEll - #19T 43 42 85| 10.8| 74.2 35747 |5H A= 52 51 103| 27.6|] 75.4
1081y |[Hx A FMt 31 38 69 -3.6 72.6 233 DEiE  EER 42 43 85| 10.8] 74.2 358fu | KA &5h 53 50 103| 27.6|] 75.4
1091u |=ay  EER 41 46 87| 14.4 72.6 23461 | =8 & 48 43 91| 16.8] 74.2 3590 | = & 46 45 91| 15.6| 75.4
11067 RAE —2 45 42 87| 14.4 726 O 23507 3R —X 48 43 91| 16.8] 74.2 3600z | &)l IEfE 45 46 91| 156| 75.4| O
1115 |0 Hi 52 47 99| 26.4 72.6 23601 |/NE  Fnif 43 42 85| 10.8] 74.2 36117 A FET 45 46 91| 15.6| 75.4
112u|fFA & 42 45 87| 14.4 72.6 23761 | RFH  BE 42 37 79 48| 74.2 36217 |FRE  BE 47 50 97| 21.6| 75.4
11367 | BEF B=Ff 47 46 93| 20.4 72.6 23861 | EAR EE 51 40 91| 16.8] 74.2 3634z |EFH M5k 54 49 103| 27.6| 75.4
1144 | f&H FB— 39 35 74 1.2 72.8 239U | &l Bx 40 39 79 48| 74.2 3640 JE= 51 46 97| 21.6| 75.4
1150 | RiE &2 46 40 86| 13.2 72.8 2401 | R [ERR 46 39 85| 10.8] 742| O 36507 [REFF =18 47 56 103| 27.6| 75.4
1160 |FH BE 38 36 74 1.2 72.8 2411u |[REH  JE#E 44 41 85| 10.8| 74.2 3661 |RHE ffX 49 48 97| 21.6| 75.4
17| EH EX 40 40 80| 7.2 72.8 24200 3RA 44 47 91| 16.8] 74.2 3674z |fiEll =8 41 44 85| 9.6/ 75.4
1186 | IUT~  fB= 39 41 80 7.2 72.8 24317 |JR  Ih 54 49 103] 28.8] 74.2 3681 |HE & 50 46 96| 20.4| 756
1196 | &Il &F 42 38 80 7.2 72.8 24447 | KH #— 47 50 97| 22.8] 74.2 3691y [1glE  FEE 52 44 96| 20.4| 756
12007 | B % 40 46 86| 13.2 728 O 2450 | HR 18R 41 44 85| 10.8| 74.2 3701 | =% Bx 39 39 78 24| 756 O
12114 | BH & 46 46 92| 19.2 72.8 2460 | RHE BH= 42 43 85| 10.8] 74.2 7L AR SRR 42 42 84| 84| 756
1220 | WA SRR 38 42 80| 7.2 72.8 24717 [BAA  Fesh 45 46 91| 16.8] 74.2 I EE EH 42 42 84| 84| 756
1230 | BEX RE 42 44 86| 13.2 72.8 24801 ;8% BE 43 41 84| 9.6] 744 3730 [EE W 39 39 78] 24| 756
124U | X% 1 48 50 98| 25.2 72.8 2490 | K ERiKE 46 38 84| 9.6] 744 37407 [#EFF Stb 42 42 84| 84| 756
1250 | R B 40 40 80 7.2 72.8 2501 |&FH  BRAR 42 42 84 9.6|] 744 O 3751 i BR  HEF 46 44 90| 14.4] 756
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JE I [BEERES OUT | IN [GROSS|HDCP| NET | AE JE 7 [BEEES OUT | IN [GROSS|HDCP| NET | AE JE 7 [BEEEE OUT | IN [GROSS|HDCP| NET | A&
3760 |HE BN 47 43 90| 14.4 75.6 501GL|FafR  BS— 44 49 93| 15.6| 77.4 6264|1518 W2 50 51 101] 21.6] 79.4
37T |BER RIL 55 47 102| 26.4 75.6 5020 | A #H— 41 40 81 3.6] 774 62711 | AR BE 54 59 113] 33.6| 79.4
378 | EE  HEH 44 46 90| 14.4 75.6 503 |8 —% 43 44 87 9.6] 77.4 6287 |5F ZFH 60 52 112] 32.4] 796
37911 | X EBF 43 41 84 8.4 75.6 50447 | R G4 47 46 93| 15.6] 77.4 629 [1EH EA 47 47 94| 14.4] 796
3801 | KH #— 48 42 90| 14.4 75.6] O 5054 |[FaE BRI 44 43 87 9.6] 77.4 6301 R X 49 51 100| 20.4] 79.6] O
3811y |HEH —X 45 45 90| 14.4 75.6 5060 |[HY Eth 49 44 93| 15.6| 77.4 63117 |7i@K  BA5L 50 50 100, 20.4| 79.6
3821y |15% & 46 44 90| 14.4 75.6 5071 | BEE TE— 45 48 93| 15.6| 77.4 632( |18 % 54 45 99| 19.2] 79.8
383fu [fFE M 48 42 90| 14.4 75.6 5080 | ER M 46 47 93| 15.6| 77.4 6331 |mIH #— 47 52 99| 19.2] 79.8
38441 /ML KR 51 51 102| 26.4 75.6 5091 | R A4 43 44 87 9.6] 77.4 6341 |£%F BUA 65 58 123| 43.2] 79.8
385 £ TR 50 46 96| 20.4 75.6 5101 |11 EEfe 51 48 99| 21.6] 774] O 6350 | &Il ihf 59 64 123| 43.2] 79.8
3861 | AR A 53 49 102| 26.4 75.6 5111 |tk ¥ 47 51 98| 20.4| 77.6 636fz B F  FIXER 58 46 104| 24.0] 80.0
3874 | KIFE  EE 47 43 90| 14.4 75.6 5121y |k B8 47 39 86 8.4] 77.6 637 |MA  HE 50 48 98| 18.0] 80.0
388 |R I 60 48 108| 32.4 75.6 5130y |[fFE W 42 44 86 8.4] 77.6 6381 |1k HHE 54 56 110/ 30.0] 80.0
3890 |[fRIR A 45 51 96| 20.4 75.6 5144 |/NS EFE 51 41 92| 14.4| 776 6390 | K& 1E 64 58 122| 42.0] 80.0
3900 | FAX EA 53 55 108] 32.4 75.6] O 5150 |KH #H— 46 40 86 8.4] 77.6 6400z | fF = 48 50 98| 18.0] 80.0] O
3911 &R BEK 42 41 83 7.2 75.8 5160y | EMH B 50 42 92| 14.4| 776 64107 Y8 JAFH 55 49 104| 24.0] 80.0
3921 (&L FN1T 44 39 83 7.2 75.8 5171 | #BEE  FH5h 43 43 86 8.4] 77.6 64207 |9E BH 54 50 104| 24.0] 80.0
3931 | HFH =E 39 38 77 1.2 75.8 5180 |EFE 15 47 45 92| 14.4| 776 6430 |fEfR B 52 51 103| 22.8] 80.2
3944 i@k B— 48 41 89| 13.2 75.8 519U | fBtb 44 48 92| 14.4| 776 64401 | HA BB 49 48 97| 16.8] 80.2
3950 |[/ME B X 42 35 77 1.2 75.8 5201 | ¥« = A 51 47 98| 20.4| 77.6] O 64507 | T FA 52 51 103| 22.8] 80.2
3961 |PUER  KFH 45 44 89| 13.2 75.8 5211u |[H@HF BE 50 48 98| 20.4| 77.6 6460 |[ME BEXE 59 62 121] 40.8] 80.2
3974 |fEll Ath 44 45 89| 13.2 75.8 522fu |7ER  Fk 53 51 104 26.4] 77.6 64711 |23  AF| 57 46 103| 22.8] 80.2
3981 [ JER 44 39 83 7.2 75.8 523fu RO & 46 58 104| 26.4| 77.6 64807 | &)l & 46 51 97| 16.8] 80.2
3991y |[RH  JE 40 43 83 7.2 75.8 5244y (W E B 57 47 104| 26.4| 77.6 64917 | 5Lth 43 47 90 9.6/ 80.4
400z 3R X EER 45 44 89| 13.2 75.8] O 5254 | &)l IEHE 54 43 97| 19.2| 778 6500 RS AZF 55 53 108] 27.6] 80.4] O
401104 | XK BUE 47 42 89| 13.2 75.8 5260 iR EHHA 43 42 85 72| 778 6511 |[mIH 1&& 50 52 102| 21.6| 80.4
40201 | MR £ 41 42 83 7.2 75.8 5271 |F%RH & 49 48 97| 19.2| 778 65207 | BH 18 52 56 108| 27.6] 80.4
4030 | KB HAR 47 48 95| 19.2 75.8 5280 | E)Il &3 51 52 103| 25.2| 77.8 653 |JI|FF XZF 51 45 96| 15.6] 80.4
40401 B EA 47 48 95| 19.2 75.8 5201 [3EH EA 47 44 91| 13.2| 77.8 654147 /ML K 48 54 102| 21.6] 80.4
4050 |BFR 15 43 46 89| 13.2 75.8 5300 | HAN RE 43 42 85 72| 778 O 6550 | AR BE 50 58 108| 27.6] 80.4
4060y | BEH EE 46 43 89| 13.2 75.8 5311 |#)I] #— 45 40 85 72| 778 6560 [T RB— 63 63 126| 45.6] 80.4
40707 | B A 48 47 95| 19.2 75.8 5320 |[/ME B X 47 44 91| 13.2| 778 65707 |FH BN 53 48 101] 20.4| 80.6
40801 |[FEFT B 43 46 89| 13.2 75.8 5331 | & B 48 43 91| 13.2| 778 6581|571 FH 47 42 89 8.4] 80.6
40917 /ML KR 47 54 101] 25.2 75.8 5344 | IUAR BN 47 50 97| 19.2| 778 6591 |[RH #E— 57 50 107| 26.4] 80.6
4107 =K FHiE 55 64 119] 43.2 75.8] O 535y [f¥F 55 48 103] 25.2| 77.8 66007 | A% EH 65 54 119| 38.4] 80.6] O
41107 S HER 39 37 76 0.0 76.0 5361y |EE FEH 42 43 85 72| 778 66107 | A)Il A 53 54 107| 26.4] 80.6
4121y |TER 8! 51 43 94| 18.0 76.0 5371 |JI|EF XF 50 47 97| 19.2| 778 66207 |A EH 57 56 113| 32.4] 80.6
4130 | AR B= 44 44 88| 12.0 76.0 5380 [fER W& 46 51 97| 19.2] 778 6631 |MHE =17 52 48 100] 19.2] 80.8
41401 |HX% A 43 45 88| 12.0 76.0 539 |EAX %EC 44 47 91| 13.2] 778 6641 |BR #HZ 50 44 94| 13.2] 80.8
4150 |t FE 51 49 100| 24.0 76.0 54007 | FA  FIxE 51 46 97| 19.2] 778 O 6650 | KFE EE 53 53 106| 25.2| 80.8
PES 44 44 88| 12.0 76.0 54107 [IRAE  Hth 50 47 97| 19.2| 778 66607 | K BIT 58 65 123| 42.0] 81.0
4170 | /RE BE 42 46 88| 12.0 76.0 54207 JUEF 56 53 109| 31.2] 77.8 66717 |RA EHETF 54 50 104 22.8] 81.2
4180 |TBR  FPE 47 41 88| 12.0 76.0 54307 |[#R 55L& 56 53 109] 31.2] 77.8 668fz| FH BA 53 45 98| 16.8] 81.2
4190 [k H  EA 47 47 94| 18.0 76.0 54407 |+ H WEE 49 48 97| 19.2| 778 6691 /NS i 56 48 104 22.8] 81.2
42007 |Fa R FHR 41 41 82 6.0 76.0, O 54507 | FFHR  BEt 55 54 109| 31.2] 77.8 6700 | = BB 45 40 85 3.6/ 814] O
42140 [FafE ZE 47 47 94| 18.0 76.0 5460 |TER FE 46 51 97| 19.2| 77.8 G 48 49 97| 15.6| 814
42200 | K8 &K 48 40 88| 12.0 76.0 YIRS S 44 46 90| 12.0/ 78.0 6720 |4 B 53 50 103| 21.6| 814
42307 | EBE  FH5h 46 48 94| 18.0 76.0 5481 [RA ERHTF 53 49 102| 24.0] 78.0 6730 | T #cBA 59 56 115 33.6| 814
42401 | KB BRIE 51 43 94| 18.0 76.0 5490y [ %M E= 49 47 96| 18.0/ 78.0 67401 [FE KX 49 60 109| 27.6| 814
42500 | FH =¥ 44 44 88| 12.0 76.0 5501 |[%=H @ F— 56 40 96/ 18.0] 78.0] O 67507 /Ml K 52 50 102| 20.4| 81.6
42607 |+ EAED 45 43 88| 12.0 76.0 5511y | B+ EEEA 52 44 96| 18.0/ 78.0 67607 | Al K— 53 49 102| 20.4| 81.6
427101 | KH &K 47 47 94| 18.0 76.0 5520 | X% BE 48 42 90| 12.0/ 78.0 67747 [RFR  FIBF 56 58 114| 32.4] 816
42807 |HHT BB 49 51 100| 24.0 76.0 553fu |[®KM —% 49 47 96| 18.0/ 78.0 6780y | T #cBA 58 49 107| 25.2| 81.8
42001 [ Bl AR 48 64 112] 36.0 76.0 5544 )l T8 53 49 102| 24.0] 78.0 6790 |RIR  FHE 56 51 107| 25.2| 81.8
4300z LA RIsE 39 42 81 48 76.2] O 5550 | KA RfE 50 46 96| 18.0] 78.0 6801 |#WH &E 52 42 94| 12.0] 82.0/ O
43110 | X% JEF 43 44 87| 10.8 76.2 55610 JUEF  RTF 51 51 102| 24.0] 78.0 6811y Bl E& 65 53 118/ 36.0] 82.0
43200 | KA R= 44 43 87| 10.8 76.2 55717 |EH {3 48 48 96| 18.0] 78.0 6821 |[HHY &N 49 57 106| 24.0] 82.0
4330 [BFIl KA 41 40 81 48 76.2 558 £ 1= 54 48 102| 24.0] 78.0 6831 |Bf 1&F 51 55 106| 24.0] 82.0
43441 |EE RBE 39 42 81 48 76.2 559u (&)l B= 50 52 102| 24.0] 78.0 6844 [JIIO &3k 50 49 99| 16.8] 82.2
4350 | AJIl  F— 43 44 87| 10.8 76.2 5600z | AH B 53 55 108/ 30.0/ 780/ O 6851 I8 [§th 59 46 105 22.8] 82.2
4360 |fRA B 42 39 81 4.8 76.2 5610 AR {=# 42 41 83 48| 782 6861 [BEH Rid 59 64 123| 40.8] 82.2
4370 | B KE 43 50 93| 16.8 76.2 562y |[fEH XF 47 48 95| 16.8] 78.2 6871 | EH BA 60 56 116] 33.6| 824
4380 | =K FHE 54 57 111] 34.8 76.2 5630 [E —% 47 42 89| 10.8] 78.2 6881 |RiE IEM 67 60 127| 44.4] 826
43907 IHA &S] 49 50 99| 228 76.2 56407 [ Ih 50 45 95| 16.8] 78.2 6891 |[ATH 1T 46 50 96| 13.2] 828
44001 KB 1&F 53 45 98| 21.6 76.4] O 5650 | B 51 44 95| 16.8] 78.2 6900 |5 HKEA 50 52 102| 19.2] 828] O
441107 [FH BB 47 45 92| 15.6 76.4 5660 | HF =7 46 43 89| 10.8] 78.2 6911 (BRIl K+ 63 63 126| 43.2] 82.8
44201 | EE —T) 45 41 86 9.6 76.4 56710 F8  EK 47 48 95| 16.8] 78.2 6921u [l T 64 61 125 42.0] 83.0
44317 |POTER  ZE5A 40 40 80 3.6 76.4 5680 |AH i 40 43 83 48| 782 6931 | BB BA 71 60 131| 48.0] 83.0
44401 | A BE 48 44 92| 156 76.4 5690 [N F BEFE 44 45 89| 10.8] 78.2 6940 [EEE #i 55 45 100 16.8] 83.2
44501 | =8 IEM 49 43 92| 15.6 76.4 5700 |/hMEk  Eth 54 47 101| 22.8] 782 O 69517 [Jbi B A 58 60 118| 34.8] 83.2
44601 | B B2 53 51 104 27.6 76.4 57110u |BF A 49 46 95| 16.8] 78.2 69607 | A BER 60 52 112| 28.8] 83.2
447N | EE B 39 41 80| 3.6 76.4 572 3RH HEIT 48 47 95| 16.8] 78.2 6971 | EZ 53 52 105| 21.6| 83.4
44801 AR R2Z 43 43 86| 9.6 76.4 573 |[fEH MC 54 53 107| 28.8] 78.2 6981y | BfF 56 54 110 26.4] 83.6
4490 | A —= 44 48 92| 15.6 76.4 ZGIET: RS 43 58 101] 22.8] 78.2 6991 |5/ = 50 48 98| 14.4] 836
4500z | X7 #EiE 49 49 98| 21.6 76.4] O 57507 | FH ER 41 41 82 3.6| 784 7000 | BR 2 48 49 97| 13.2] 838] O
4510 R A B 40 46 86 9.6 76.4 5760 BB =E 47 47 94| 15.6| 784 7014z (4011 FEfE 54 54 108| 24.0] 84.0
45200 | B K 64 64 128| 51.6 76.4 57741 | =M 52 48 100| 21.6| 78.4 7021y | BE A 60 58 118| 33.6|/ 84.4
45347 IHA &S] 55 49 104 27.6 76.4 5781 | K8 %K 55 45 100] 21.6| 784 7037 [T RSN 60 64 124| 39.6| 84.4
45400 | EAR ERE 42 43 85| 8.4 76.6 579f1|HF =7 49 51 100] 21.6| 784 70401 | AN EE 55 50 105| 20.4| 84.6
45547 |IEfE &3 48 43 91| 14.4 76.6 58018k ER 51 49 100] 21.6] 784 O 7050 | S Rk 64 57 121| 36.0] 85.0
45607 |tk EF 44 41 85 8.4 76.6 5811y | HFH Eth 53 47 100| 21.6| 78.4 7060z |HF =EF 47 50 97| 12.0] 85.0
45701 BH RE 46 45 91| 14.4 76.6 5820u |15 AT 53 53 106| 27.6| 78.4 7071 |BBR A& 53 60 113| 27.6] 85.4
4580 |FFO RE 46 45 91| 14.4 76.6 5830 [l IEKE 52 48 100| 21.6| 78.4 708fz| EH —#& 54 52 106| 20.4] 85.6
45907 | Faft & 42 43 85 8.4 76.6 5841y | EH EF 45 43 88 96| 78.4 7090 R BE 76 64 140 54.0] 86.0
46001 | K5I HR&k 49 48 97| 20.4 76.6| O 5850 |/NE ik 44 44 88 9.6| 784 7100 | = —H% 60 60 120/ 33.6] 86.4] O
46101 |=H %3 52 51 103] 26.4 76.6 FEEE- 45 43 88| 9.6/ 784 TIN[IR 5 62 56 118 31.2] 86.8
46217 [k FPBA 51 52 103] 26.4 76.6 58717 | X% JEF 49 51 100| 21.6| 78.4 712 | Bl A 55 55 110| 22.8] 87.2
46301 [iER  HH 47 44 91| 14.4 76.6 5881 |8k T8 49 51 100| 21.6| 78.4 71347 |FifR IEE 56 51 107| 19.2| 87.8
46401 AR BE 51 46 97| 20.4 76.6 5891 | B4% M 51 42 93| 14.4| 78.6 BBE X EXH 66 62 128| 39.6| 88.4| O
46501 | RN A 41 50 91| 14.4 76.6 5007 | &vH B 49 44 93| 14.4| 786] O HEALE | AR BR 74 75 149| 58.8/ 90.2] O
ETTEET:S 42 36 78 1.2 76.8 590117 |#EH —X 45 42 87 8.4 78.6

46701 | KH 1E 50 46 96| 19.2 76.8 59217 | ALl FIBA 41 40 81 24| 78.6

4680 £k Bk 44 46 90| 13.2 76.8 593y |[KH #H— 50 43 93| 14.4| 786

46901 | BPE & 43 41 84| 7.2 76.8 59447 /ML X 49 50 99| 20.4| 78.6

47001 A H= 40 38 78] 1.2 76.8] O 5950 | AF AKX 66 45 111 32.4| 786

47100 B TR 50 46 96| 19.2 76.8 59061 |BEH 2 54 57 111| 32.4| 78.6

4721 |FAIER  FEsh 47 43 90| 13.2 76.8 50741 | FH B=E 52 59 111| 32.4| 78.6

47301 | TR BE 52 44 96| 19.2 76.8 5084 |78l A 46 46 92| 13.2| 78.8

47401 3REF  EHA 51 45 96| 19.2 76.8 RN 48 44 92| 13.2| 78.8

47501 | FRE  BE 51 45 96| 19.2 76.8 6000 F%H BN 40 40 80| 1.2| 788] O

47601 |HF 7§ 46 50 96| 19.2 76.8 60111 |FRAE EFE 46 46 92| 13.2| 788

47701383k ER 50 52 102| 25.2 76.8 6021 [IEIL T 45 47 92| 13.2| 78.8

47801 | /AR BE 51 57 108] 31.2 76.8 6030 |Fx fEtb 52 46 98| 19.2] 78.8

47917 | &)l Bt 57 51 108| 31.2 76.8 60401 | KB FRYE 44 48 92| 13.2| 78.8

4801 | &Il FRX 41 42 83| 6.0 77.0 O 6051z /NIl BEEd 49 49 98| 19.2| 788

48101 | ER 49 46 95| 18.0 77.0 6061z | M= BB 46 46 92| 13.2| 788

48201 |/ME B X 47 42 89| 12.0 77.0 6071 |FTE  HH 46 46 92| 13.2| 788

48301 |8 F— 50 45 95| 18.0 77.0 608fz A ZE 47 51 98| 19.2| 788

48401 A FHHA 42 41 83 6.0 77.0 60901 | KH T5 50 60 110, 31.2| 78.8

48501 ¥R HEEK 44 45 89| 12.0 77.0 6101z |mIH #— 49 55 104| 25.2| 788 O

486071 | BX 47 48 95/ 18.0 77.0 61111 |=hE B 44 47 91| 12.0/ 79.0

48700 |1k B— 53 48 101| 24.0 77.0 61211 |[BR #<Z 52 45 97| 18.0/ 79.0

48847 |FAIER  A1Z 44 45 89| 12.0 77.0 6130 |kl EB 53 50 103| 24.0] 79.0

4891 | #TH  1TH# 51 44 95| 18.0 77.0 61401 | AR ARFE 57 52 109] 30.0] 79.0

4000 | 1B 47 48 95| 18.0 77.0] O 61501 R FE 42 42 84| 4.8] 79.2

49111 |ER 61 52 113] 36.0 77.0 6160 |xXE BE 50 46 96| 16.8] 79.2

4924 | BLR 54 53 107| 30.0 77.0 6174z |JIIFY  Esh 51 45 96| 16.8] 79.2

4930 | B F 50 44 94| 16.8 77.2 6180z | FHEF HE 43 47 90| 10.8] 79.2

49401 |l EA 42 46 88| 10.8 77.2 6190 3E BB 51 45 96| 16.8] 79.2

49507185 LhC 51 43 94| 16.8 77.2 6201 |12 M3 58 50 108] 28.8| 79.2] O

496107 | B EK 52 42 94| 16.8 77.2 62117 |E BN 47 55 102] 22.8] 79.2

4971 |[FR 56 56 112] 34.8 77.2 6220 |EH EHBET 46 49 95| 15.6| 79.4

498 [IUAR K& 42 39 81 3.6 77.4 6230 [HO =X 48 59 107 27.6] 79.4

4990 | /MR [RE 53 40 93| 15.6 77.4 62401 IR HEth 49 52 101 21.6] 79.4

500fz | 1E4T 40 47 87 9.6 774] O 6251 |8 =W 46 49 95| 15.6] 79.4




